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crel: Jl2 A (29 a8)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
— X AG 60,000& * 117 7,020
02 2l 6,760
- 2A2Y BUNY
8,000& * 13¥ * 6524) 6,760
02 35244l 23,300 22,160 1,140
O 222=2 2 HMAl 16,900
— dIle=3 11,000,000& 11,000
SERS 1,400, 000& 1,400
— A= 2 J|E 1,500, 000& 1,500
— EXga ¥ F2Y JMIIe3
3,000,000& 3,000
O 9 2 dl 500
— )] 2 g2ae A=Y 500, 000& 500
O A& &Ed KXl 2,400
— SH HAEK XY 2,400,000 2,400
O Xtk . &ty 3,500
— #EXNYE REUH L 22 3,500,000& 3,500
202 044l 41,000 40,000 1,000
01 2LHOHI 5,000 4,000 1,000
O BA2Y SHAHA 4,000,000& 4,000
OJIg & EXNsX &g 1,000, 000& 1,000
02 2 40| 36,000 36,000 0
O geize "oy
200,000& = 15 * 12& 36,000
203 ¥R =&XH| 9,540 9,540 0
01 J22HAREAY| 5,940 5,940 0
O ZX2g, KBS S M22aay|
6,600,000 = 90/100 5,940
02 RIS R = XY 600 600 0
O FHOI2E, M=z S JIAAMINEE
40,0008 = 15 600
04 ENSHLRE=XH| 3,000 3,000 0
O BARIEILL=X(HE 15Y) 3,000
— 15¢Q! 0l3at 250,000 = 128 3,000




